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𝑪𝒐𝒔𝒕 𝒑𝒆𝒓 𝒑𝒆𝒓𝒔𝒐𝒏 =
𝑃𝑎𝑟𝑘𝑖𝑛𝑔 𝑓𝑒𝑒 + 𝐶𝑜𝑛𝑠𝑢𝑚𝑝𝑡𝑖𝑜𝑛 ×  𝑅𝑜𝑢𝑡𝑒

𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑝𝑒𝑟𝑠𝑜𝑛𝑠 𝑖𝑛 𝑐𝑎𝑟

𝑪𝒐𝒔𝒕 𝒑𝒆𝒓 𝒑𝒆𝒓𝒔𝒐𝒏 =  
𝐶𝐻𝐹 4.55 +

𝐶𝐻𝐹 0.71
𝑘𝑚

×  132 𝑘𝑚

2
   = 𝑪𝑯𝑭 𝟒𝟗. 𝟏𝟓

𝑪𝒐𝒔𝒕 𝒑𝒆𝒓 𝒑𝒆𝒓𝒔𝒐𝒏 =  
𝐶𝐻𝐹 0.00 +

𝐶𝐻𝐹 0.71
𝑘𝑚

×  23 𝑘𝑚

2
 = 𝑪𝑯𝑭 𝟖. 𝟏𝟓

𝑪𝒐𝒔𝒕 𝒑𝒆𝒓 𝒑𝒆𝒓𝒔𝒐𝒏 =  
𝐸𝑈𝑅 0.00 +

𝐸𝑈𝑅 0.50
𝑘𝑚

×  87 𝑘𝑚

2
 = 𝑬𝑼𝑹 𝟐𝟏. 𝟕𝟓

 

𝑪𝒐𝒔𝒕 𝒑. 𝒑𝒆𝒓𝒔𝒐𝒏 =
𝐸𝑈𝑅 18.00 +

𝐸𝑈𝑅 0.50
𝑘𝑚

×  70 𝑘𝑚

2
= 𝑬𝑼𝑹 𝟐𝟔. 𝟓𝟎

https://sayhi.hitchhike.ch/
http://www.hitchhike.ch
https://www.instagram.com/hitchhike_carpooling/
https://twitter.com/HitchHike_sayHi
https://www.facebook.com/HitchHike.carpooling
https://www.linkedin.com/company/hitchhike



